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Full purchase price of new house $__\oo , goo A

Loan amount requested $ g0, o> B
Down payment needed (without closing costs) $ 20, 60> C=A-B
Closing cost estimate (3-5% of loan amount)  $ 2, 4 D
TOTAL CASH NEEDED TO CLOSE $__ 23,4  E=C+D

SOURCES OF CASH NEEDED TO CLOSE

Amount from sale of present house S {0, gov
Amount of cash deposit $ {, oBD

Amount from savings & checking accounts $ {,4oo

Amount from gifts $

Amount from stocks or other securities $

Amount from other sources (secondary $
financing, etc.)

2M Lole + DT —bp Seller

TOTAL CASH AVAILABLE FOR CLOSING $ 22, 460 L=F+G+

H+I+J+K
NOTE: “L” must be equal to or greater than “E.”





